W PARTS

]
AUTOMOTIVE
W PART NOs
W PART NO RACB PART NUMBER DESCRIPTION PICTURE W PART NO RACB PART NUMBER DESCRIPTION PICTURE
W700376 CBSP/1095 RETAINER 8 X 1.2 SHAFT PSH ON STL W715206 (W780139) CBSP/1844 (1900) NUT & RET CAGE M6 10 ’
W700553 CBUN/1864 (4.2) NO.8 U NUT D W715230 CBSP/1859 CLIP 0.8~ 1.2 EDG PSH ON SPL STL
W700674 CBSP/1572 TRIM CLIP W715275 CBSP/1903 CLIP2+85X10X0.8-3PSHIN/ON STL ()9
>
\
W701252 CBCN/1502 NUT ASY MBX12.8x12.8x1.2 CAGE 04 W715990 (W716407) CBSP/1886 (1902) PIN HOLLOW DWL 7.25 X 14.5 SPLT \/
W701360 CBUN/1196 NUT 4.2 X 2.25 - 3 SPG U TYPE W716163 CBSP/1887 PIN HOLLOW DWL 12.97 X 14.5 SPLT w
<
W702064 CBSP/1711 HOSE CLIP W716407 CBSP/1902 PIN HOLLOW DWL 7.25 X 14.5 SPLT \\/\A‘
W702856 CBSP/1539 NUT - SPG 3.5 X1.2- 35 U TYPE W716743 CBSP/1921 CLIP 1+5X15X1.8 PNL PSH INJON STL ﬂ
LD
W703557 CBSP/1632 CLIP 1.35x6x22x0.7 PNL PSH ON/IN W780032 CBSP/1885 NUT & WSHR M12 HF PTP FL 10 5
)
W703895 CBSP/1620 CLIP1.35 X 6 X 22 X 0.7 - 1.2 PUSH ON/IN W780051 CBSP/1880 NUT & WSHR M14 HC PTP FL 10 b
W704193 CBSP/1621 CLIP 2+7.2x12x0.7 TRIMEDS STL W780113 CBSP/1888 CLIP 0.8 - 1.2 EDG PSH ON SPL STL ‘
W704197 CBSP/1622 CLIP2+7.2X12X0.8-2 TRIMEDS STL W780129 CBSP/1893 NUT CLIP ASSY M6 - 4 AL/STL SPL 8 ~
W705224 CBUN/0214 No 10 U NUT RETAINER % W780139 CBSP/1900 NUT & RET CAGE M6 10 SPL 10 9
@ =
W707114 CBSP/1653 RETAINER 125 X 24.2 X 0.61 L S W780153 CBSP/1875 NUT & RET CAGE M10 + 80 X 42 STL 8
6GIN-62304-AA CBSP/1948 SEALING COVER - FRONT FLOOR W780154 CBSP/1872 NUT & RET CAGE M12 + 80 X 42 STL 8 &
W707487 CBSP/1557 CLIP1.35 X 6 X 22 X 0.7 - 1.2 PUSH ON/IN W780170 CBSP/1860 CLIP 0.8 -18.4 X455 1.25 PSH IN STL P

W708245 CBUN/0274 NUT SPG 4.8 X 0.7- 3.0 U TYPE W780234 CBSP/1904 NUT PRESSED T6 X 1.6 HF SPL STL

W711064 CBSP/1746 NUT U SPG M10 x4 W780345 CBSP/1950 NUT M10 HF SPL 8

W711509 PAN/0104 NUT EXP48X8X8X05-22PLA W780463 CBSP/1925 CLIP 2.8 3.2 EDG PSH ON SPL STL

W708542 CBSP/1949 CLIP 5.4 EDG PSHON PNL STL \/}/ W780332 CBSP/1914 NUT U SPG M10 x4

W711773 CBSP/1911 WASHER 5.3 X 32 X 1 DISH SS W780505 CBSP/1924 CLIP 0.7-1.2+5X15X1.8 PSHIN / ON STL
a
W713124 CBSP/1728 CLIP 2X9X14X2.5-3 PNL PSH ON/IN W780511 CBSP/1937 NUT & WASHER M6 HX FL SPL 8 -
W713178 CBSP/IL777 NUT STAMPED M5 HF W780642 CBSP/1953 CLIP 1.4 +2.45 - 2.95 EDG PSH ON STL
-
W714523 W781410 CLIP1-2.5+5x15x1.8 PNL PSHIN STL W780681 CBSP/1954 CLIP 0.7-1.2+5X15X1.8 PSHIN / ON STL 6
W714635 CBSP/1825 CLIP 1.8- 2.2 EDG PSH ON SPL STL - W780755 CBSP/1960 CLIP0.7-1.2+45 X 26 + 2.5 PUSHON STL Q
W714770 CBSP/1824 CLIP 1.82.2 EDG PSH ON SPL STL V W780764 CBSP/1957 CLIP0.7-1.2+5X 15 1.8 PSHIN / ON STL ¢
W714865 CBSP/1952 CLIP 8- 10 EDG SPL STL Q‘ W790102 CBSP/1903 CLIP2+85X10X0.8-3PSHIN/ON STL (m
e
A
W714957 CBSP/1831 CLIP 1.2 - 2 EDG PSH ON SPL STL XH12-220-CA CBSP/1244
W780114 CBSP/1985 CABLE EDGE CLIP *

Page 1




ROSTI AUTOMOTIVE CANNING BRETT

PRODUCT LISTING 2019

LY Resti

ROSTI AUTOMOTIVE CANNING BRETT
PRODUCT LISTING 2019

LY Rosti

UNUTS CAGE NUTS
W700553 CBUN/1864 (4.2) NO.8 UNUT @ W715206 (W780139) CCBSP/1844 (1900) NUT & RET CAGE M6 10
W701360 CBUN/1196 NUT 4.2 X2.25 - 3 SPG U TYPE @ W780139 CBSP/1900 NUT & RET CAGE M6 10 SPL 10
W702856 CBSP/1539 NUT - SPG 3.5 X1.2 - 3.5 U TYPE \{?‘/ W780153 CBSP/1875 NUT & RET CAGE M10 + 80 X 42 STL 8
W708245 CBUN/0274 NUT SPG 4.8 X 0.7 - 3.0 U TYPE % ‘W780154 CBSP/1872 NUT & RET CAGE M12 + 80 X 42 STL 8
W711064 CBSP/1746 NUT U SPG M10 x4 @ W701252 CBCN/1502 NUT ASY M8x12.8x12.8x1.2 CAGE 04
-
W780332 CBSP/1914 NUT U SPG M10 x4 CBSP/1815 M14 CAGE NUT ASSEMBLY
W705224 CBUN/0214 No 10 U NUT RETAINER %’ CBSP/1816 M16 CAGE NUT ASSEMBLY
W700376 CBSP/1095 RETAINER 8 X 1.2 SHAFT PSH ON STL )/‘_;_’/ CBSP/1817 M16 CAGE NUT ASSEMBLY
CBSP/1907 “"U" NUT Nol0 S.M.S. % CBSP/1783 M12 CAGE NUT ASSEMBLY
CBSP/1970 No8 S.M.S. "U2 NUT Q CBSP/1784 M14 CAGE NUT ASSEMBLY
CBSP/1971 No10 S.M.S. "U'NUT ‘ CBSP/1778 M12 CAGE
CBSP/1779 M14 CAGE
CBSP/1818 M14 CAGE
CBSP/1819 M16 CAGE
CBSP/1853 M15 CAGE NUT ASSEMBLY
CBSP/1874 M12 CAGE
CBSP/1877 M10 CAGE




ROSTI AUTOMOTIVE CANNING BRETT
PRODUCT LISTING 2019

LYRosti

ROSTI AUTOMOTIVE CANNING BRETT

PRODUCT LISTING 2019

LY Rosti

CLIPS NUTS & WASHERS
W700674 CBSP/1572 TRIM CLIP W780032 CBSP/1885 NUT & WSHR M12 HF PTP FL 10
W703557 CBSP/1632 CLIP 1.35x6x22%0.7 PNL PSH ON/IN W780051 CBSP/1880 NUT & WSHR M14 HC PTP FL 10
W703895 CBSP/1620 CLIP 1.35 X 6 X 22 X 0.7 - 1.2 PUSH ON/IN {:Ji, W780234 CBSP/1904 NUT PRESSED T6 X 1.6 HF SPL STL
W704193 CBSP/1621 CLIP 2+7.2x12x0.7 TRIMEDS STL ‘ W780345 CBSP/1950 NUT M10 HF SPL 8
W704197 CBSP/1622 CLIP2+7.2X12X0.8-2 TRIMEDS STL % W780511 CBSP/1937 NUT & WASHER M6 HX FL SPL 8 .
W707487 CBSP/1557 CLIP 1.35 X 6 X 22 X 0.7 - 1.2 PUSH ON/IN ‘@ CBSP/1821 M14 FLANGE NUT
W708542 CBSP/1949 CLIP 5.4 EDG PSHON PNL STL \(/}/ CBSP/1822 M16 FLANGE NUT
W713124 CBSP/1728 CLIP 2X9X14X2.5-3 PNL PSH ON/IN g& GX73-486940-BA CBSP/1939/121 M14 FLAG ASSEMBLY P
W714523 W781410 CLIP1-25+5x15x1.8 PNL PSHIN STL CBSP/1798 M6 x 20 HEX FLANGE BOLT W
W714635 CBSP/1825 CLIP 1.8- 2.2 EDG PSH ON SPL STL CBSP/1843 M4 NUT INSERT é
W714770 CBSP/1824 CLIP 1.8-2.2 EDG PSH ON SPL STL CBSP/1845 M6 TEE NUT [\
W714865 CBSP/1952 CLIP 8- 10 EDG SPL STL CBSP/1846 M20 NUT & WASHER “,
—
W714957 CBSP/1831 CLIP 1.2 - 2 EDG PSH ON SPL STL //‘6 CBSP/1873 M12 TEE NUT \gy
W715230 CBSP/1859 CLIP 0.8 - 1.2 EDG PSH ON SPL STL a CBSP/1941 M6 TEE NUT INSERT ?
W715275 CBSP/1903 CLIP2+85X10X0.8-3PSHIN/ON STL (}p CBSP/1942 M5 SPECIAL NUT 5\ -
W716743 CBSP/1921 CLIP 1+5X15X1.8 PNL PSH IN/ON STL Q
W780113 CBSP/1888 CLIP 0.8 - 1.2 EDG PSH ON SPL STL J
W780129 CBSP/1893 NUT CLIP ASSY M6 - 4 AL/STL SPL 8 ‘
W780170 CBSP/1860 CLIP0.8-18.4 x4.5x1.25 PSH IN STL %
W780463 CBSP/1925 CLIP 2.8 - 3.2 EDG PSH ON SPL STL g
‘W780505 CBSP/1924 CLIP 0.7-1.2+5X15X1.8 PSHIN / ON STL g
W780642 CBSP/1953 CLIP 1.4 +2.45 - 2.95 EDG PSH ON STL
W780681 CBSP/1954 CLIP 0.7-1.2+5X15X1.8 PSHIN / ON STL &
W780755 CBSP/1960 CLIP0.7-1.2+4.5X 26 + 2.5 PUSHON STL i
W780764 CBSP/1957 CLIP0.7-12+5X1518PSHIN/ON STL ¢
‘W790102 CBSP/1903 CLIP2+85X10X0.8-3PSHIN/ON STL (m
g
XH12-220-CA CBSP/1244 ’}
W780114 CBSP/1985 CABLE EDGE CLIP ﬁ
CBSP/1830 EPR CABLE CLIP N
UH12101010KA CBSP/1730 PIPE CLIP %




ROSTI AUTOMOTIVE CANNING BRETT
PRODUCT LISTING 2019

MISCELLANEOUS PRODUCTS

LYRosti

ROSTI AUTOMOTIVE CANNING BRETT
PRODUCT LISTING 2019

CHIMNEY NUTS

LY Rosti

w707114 CBSP/1653 RETAINER 12.5 X 24.2 X 0.61 CBSP/1832 M6 CHIMNEY NUT @
6GON-62304-AA CBSP/1948 SEALING COVER - FRONT FLOOR CBSP/1834 M10 FLANGE CHIMNEY PC10 -—._._\!_/
W711509 PAN/0104 NUT EXP 4.8 X8 X8X0.5-2.2 PLA e 02T4K4579 CBSP/1832 CHIMNEY NUT ‘g:%
=
W711773 CBSP/1911 WASHER 5.3 X 32X 1DISH SS LS W520831 CBSP/1923 M5 CHIMNEY "U" NUT :_‘:_,’:_3
—_
W713178 CBSP/1777 NUT STAMPED M5 HF @
= -
W715990 (W716407) CBSP/1886 (1902) PIN HOLLOW DWL 7.25 X 14.5 SPLT 8 3 ROSTI AUTOMOTIVE CANNING BRETT ‘ ‘ Rostl
PRODUCT LISTING 2019 AuTOMOTIVE
W716163 CBSP/1887 PIN HOLLOW DWL 12.97 X 145 SPLT & BRACKETS
<
W716407 CBSP/1902 PIN HOLLOW DWL 7.25 X 14.5 SPLT % CBSP/1915 L/H BRACKET
W702064 CBSP/1711 HOSE CLIP & CBSP/1916 L/H BRACKET ASSEMBLY
W713894 CBSP/1826 M14 NUT RETAINER \;a CBSP/1917 RIH BRACKET
.
CBSP/1795 WASHER - CBSP/1918 RIH BRACKET ASSEMBLY
CBSP/1955 M14 FLAG p
CBSP/1956 M14 FLAG ASSEMBLY ‘
-_
CBSP/1946 M14 FLAG "SPANNER" :/
-
GX-486940-BA CBSP/1939 M14 FLAG ASSEMBLY Fﬁa
-
CPLA486940DA cBSP/1882 LIH, RIH FLAG ASSEMBLY b ;
- >
PLA486940EA CBSP/1884 M14 FLAG ASSEMBLY
CPLA486940 ﬁg
CBSP/1796 T6 BATTERY STRAP
CBSP/1797 T5 BATTERY STRAP
CBSP/1836 3.5 DIA x 66MM HINGE PIN /
CBSP/1837 3.5 DIA x 62MM HINGE PIN
CBSP/1838 3.5mm x 582MM HINGE PIN
CBSP/1961 BATTERY STRAP
CBSP/1965 COLLAR g
CBSP/1966 BUSH a
CBSP/1978 HEAT SHIELD LH ~
CBSP/1979 HEAT SHIELD RH 5 \ =
CBSP/1972 MCSH SUSPENSION HANGER %
CBSP/1973 MCCL LARGE CLAMP %
—~
CBSP/1974 MCCM MEDIUM CLAMP <?
CBSP/1975 MCCS SMALL CLAMP ¢




